6.3 Day 1 HW p. 414 # 1-5 odd, 9-13, 23, 35

1) Show that EFGH is a parallelogram
fors=5and 1=6.

3-5 Determine if each quadrilateral must be a

parallelogram. Justify your answer.

3)

5)

. Show that BCGH is a parallelogram
9) forx=32andy=7.
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10) Show that TUVWis a parallelogram for

fora=19.5and b= 22.
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LOVES GEOMETRY!

11-13 Determine if each quadrilateral must be a
parallelogram. Justify your answer.

11)

12)

13)

23 Find the values of a and b that would make the
quadrilateral a parallelogram.

35) \What additional information would allow you to
conclude that WXYZ is a parallelogram?

y XY = ZW © WY =Wz

B WX=YZ D) IXWY = LZYW
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